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Practice Problems for Review in Class

Section: EII.C: Equations and Inequalities
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(6.) Find the equation of the line with slope 2
and y-intercept -3.

Y= -3

(7.) Find the equation of the line with slope -;:

that includes the point (2,~4),
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Section: EILF: Absolute Value

(9.) Salve: |2x=1]+3 =8 (10.) Solve and graph the solution to:
|x—21]=5

) )zx—)]—’-ﬂ” N o
‘_ I N

= 2 = | t5 5 = T3 EXy

=) 1 E5 L “

(11.) ‘Solve am?ﬁrapﬁthemnnto: |x+4|>7 =% L‘i@
I

=D AFYD D pR KAge~F -3
=) X 23 R X<l ' 2 CJ’)
E ﬂ', f’—’%‘

Section: 4.3: Graphing Inequalities

(12.) Graph: 2x -3y <24 ‘ (13.) Graph: 4x—~7y =28
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wife, If peanut M&Ms are $4/1b and lemon

<O
(145 Dusty has $28ft0 spend on candy for his o ‘ L

drops are $3/1b, graph an inequality that .

represents how much of each he can buy. - — ,__ﬁ_g
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